



Determine which number correctly answers both equations.

1) _____ + 1 = 9
9 - 1 = _____

2) _____ + 6 = 8
8 - 6 = _____

3) _____ + 4 = 15
15 - 4 = _____

4) _____ + 12 = 14
14 - 12 = _____

5) _____ + 2 = 5
5 - 2 = _____

6) _____ + 8 = 18
18 - 8 = _____

7) _____ + 7 = 18
18 - 7 = _____

8) _____ + 9 = 19
19 - 9 = _____

9) _____ + 2 = 15
15 - 2 = _____

10) _____ + 4 = 17
17 - 4 = _____

11) _____ + 1 = 17
17 - 1 = _____

12) _____ + 3 = 6
6 - 3 = _____

13) _____ + 2 = 18
18 - 2 = _____

14) _____ + 5 = 13
13 - 5 = _____

15) _____ + 5 = 7
7 - 5 = _____

16) _____ + 4 = 16
16 - 4 = _____

17) _____ + 13 = 20
20 - 13 = _____

18) _____ + 2 = 20
20 - 2 = _____

19) _____ + 2 = 17
17 - 2 = _____

20) _____ + 3 = 20
20 - 3 = _____

Answers

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____

16. _____

17. _____

18. _____

19. _____

20. _____



Determine which number correctly answers both equations.

1) $\underline{\quad} + 1 = 9$
 $9 - 1 = \underline{\quad}$

2) $\underline{\quad} + 6 = 8$
 $8 - 6 = \underline{\quad}$

3) $\underline{\quad} + 4 = 15$
 $15 - 4 = \underline{\quad}$

4) $\underline{\quad} + 12 = 14$
 $14 - 12 = \underline{\quad}$

5) $\underline{\quad} + 2 = 5$
 $5 - 2 = \underline{\quad}$

6) $\underline{\quad} + 8 = 18$
 $18 - 8 = \underline{\quad}$

7) $\underline{\quad} + 7 = 18$
 $18 - 7 = \underline{\quad}$

8) $\underline{\quad} + 9 = 19$
 $19 - 9 = \underline{\quad}$

9) $\underline{\quad} + 2 = 15$
 $15 - 2 = \underline{\quad}$

10) $\underline{\quad} + 4 = 17$
 $17 - 4 = \underline{\quad}$

11) $\underline{\quad} + 1 = 17$
 $17 - 1 = \underline{\quad}$

12) $\underline{\quad} + 3 = 6$
 $6 - 3 = \underline{\quad}$

13) $\underline{\quad} + 2 = 18$
 $18 - 2 = \underline{\quad}$

14) $\underline{\quad} + 5 = 13$
 $13 - 5 = \underline{\quad}$

15) $\underline{\quad} + 5 = 7$
 $7 - 5 = \underline{\quad}$

16) $\underline{\quad} + 4 = 16$
 $16 - 4 = \underline{\quad}$

17) $\underline{\quad} + 13 = 20$
 $20 - 13 = \underline{\quad}$

18) $\underline{\quad} + 2 = 20$
 $20 - 2 = \underline{\quad}$

19) $\underline{\quad} + 2 = 17$
 $17 - 2 = \underline{\quad}$

20) $\underline{\quad} + 3 = 20$
 $20 - 3 = \underline{\quad}$

Answers1. 82. 23. 114. 25. 36. 107. 118. 109. 1310. 1311. 1612. 313. 1614. 815. 216. 1217. 718. 1819. 1520. 17